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QUESTION 1

You are creating an endpoint for vCloud Air. You need to set up multiple vCloud Air organizations as separate
endpoints.

What condition must apply?

A. You must create reservation policies for each organization.

B. You must allocate network segments for each organization.

C. You must have account administrator permission for each organization.
D. Each organization must use IP address, not FQDN.

Correct Answer: A

QUESTION 2

What command type would you use to add or remove associations between skills and DEMs in the Model Manager?
A. DEM command

B. Operation command

C. Skill command

D. Workflow command

Correct Answer: A

QUESTION 3

Which three actions should an administrator take before creating a vRealize Automation Business Group? (Choose
three.)

A. Identify the Active Directory distribution groups for the users.

B. Determine which users will be assigned the Business Group Manager role.

C. Identify the Active Directory security groups for the users.

D. Determine which Cost Profiles will be used for the users.

E. Identify the Distinguished Name of Containers where the Users and Groups for the Tenant are located.

Correct Answer: BCE

QUESTION 4
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To improve provisioning time of Clone workflows, the configured per-agent limit has been increased. However, many of
the workflows now fail.

What action would resolve this?

A. Add compute resources

B. Increase the timeout interval

C. Enable Fast Provisioning

D. Increase the appliance RAM to 12GB

Correct Answer: B

QUESTION 5

What could cause an upgrade of the laaS components to fail?

A. The vRealize Automation Service Manager Service is running.

B. The vRealize Automation Agent Service is running.

C. The vRealize Automation Service Manager Service is not running.
D. The vRealize Automation Agent Service is not running.

Correct Answer: A

2V0-631 PDF Dumps 2V0-631 VCE Dumps 2V0-631 Braindumps

2V0-631 PDF Dumps | 2V0-631 VCE Dumps | 2V0-631 Braindumps 3/3


https://www.leads4pass.com/2v0-631.html
https://www.leads4pass.com/2v0-631.html
https://www.leads4pass.com/2v0-631.html
http://www.tcpdf.org
https://www.leads4pass.com/2v0-631.html
https://www.leads4pass.com/2v0-631.html
https://www.leads4pass.com/2v0-631.html

